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2017年阜新市中考数学试题（图片版）

[image: image1.png]#itg

e

Prres

B wowriarnnems

LN
R 100 B4R 100 8)

— RIS 10 /E. /B 3 51,3 30 51, 46 MR OV
e T T S

1201 R <o
A-zo nzon

caron bl
2 R AR A <
ame e

. 0w

ETaETT
nin
mm o
SRR 6 0BT RO RIS, M
oY <H
A2T0C nwc.mT
cmemt bt
ae<ss
o xwnn] WG R EREG R <
24534
e s— . —F
S A e et
A » c o

SRR MRS O£ KRR 10 kg
BEFMERR RS . Rk AN« ke REEETH
HR% [

AsQ0-n=z

Coaz=10+x Dz=l0-z
6. 18, AABC AR T OO0, L OB LOC. MLA MR
<
A0
B30t ¥
cast
30"

mem




[image: image2.png]7. 0P8 NG LIABCD WX MR BD 47 M. 0% A W45 A AL ZA =557,
ZABD=45" . W 2 A'BC 89K AR < >
A.30° B.35° c. 10" D. 5%

S AT W R P RS EB = 5 0 MR LA

SYBIRLA P AR PA Lx ST 4 A-PB_y W1F 4B, WM IE PAOB 89

B 6. A GO (R <« >
Az B —12 c.s D.—6
I T
(w7 (s (om0

9. 4P L IE 25 OABC 16 I LM 4 45 % o 40 A 19 4 05 4 (2,00 46 i
5 OABC B2 O WU 9t He ¥ 15" 49 9 IE Iy 5 OA’B'CY .30 21 C' 0 8

Y < >
A WE T B. (—VZ V2>
. WE. V) D. (2vZ 22>

10.

BB y—axt bt B9 %08 BT W — R v —ax e 00
CESTT < >

b N S N P
N ATy

A B

=0

)

S A ARt 6 N AN 3 4R 18 51>
IRy /00 FUR A 60 BRI .
12— A IR R ST A IR 00 A5 T A 2 A LR R

A B 1 BRI R0 R dy U 2 I 00 A o A

AT ELAOER. (ORI A (5 34 >
13.MWM8. MR a /b AB L BC. B 21 — 35, W6 4 L2 09 B K

d

(13 ) (o 1em

1. Bt AABC . DE / BC. AR = 2. DE— 4.3 4 BC 911

Ed .




[image: image3.png]15.

16.

B AN AB 09 A AR R CD 09 TIEE C A9 sy 37 KT D
DOy 45°» FA 60K BB BD % 24 m . 4t CD 699 1£9 %

. USRS | m. S B sindT =0, 6, c0s37'=0. 8,
tan37°=0. 75)

8 1. fE WA TE ABCD h,AB//CD.AB LBC. 3 P S B K.
iy BeCeD—r A 6977 138 2, BIAS A0 A FF L. B P S 00EEY
 AABP BBy Wy 4w bR R 2 B IR A AR
B S

N (AT 6 K 3 52 Sy I B 0 S S SE )

o 0D

17.

15,

AW 8 5
IR e () Hasinas”—VE.

2 A TR e+ (1 ) R ==

AN 8 5P

00 AABC 15 T AL A6 4R R 03 TR0 2 B 5P AC 1500
B(—4.2).0(—2.2).

QO FAEAABC, (A B S BB, (1.1 B BRI AABC
T A, Cy AR

2>t AABC X T IK O HFRHIAABCon

CHRBAA KR .

o 15 )




[image: image4.png]19. (/NS 8 51
AR RS0 T 2 A RS R i A O, R K A TR A R 3 B )
REL"X— EREREYU BT M0 A AT, WAL RS
TG I A 4% 0<<0.5 h,BHR 0.5 h<t<<1 h,CH ¥ 1 h<
¢<<1.5 h, D% =>1.5 h, FFAE 20 2 R0 AR A T R 5 M )
G B, AR P b £ B R 3 1
[SES/SLE-25 1 g A, MG R A A ELC
)2 8] "
(D2 RELITE.
(DFFPEAHE 1 200 A MHERKYH 0B ¥ LGRMEEN
BEARLF LS h.

A=

A B C Dan

(919 )




[image: image5.png]20.

21.

AW SY 8 53)

AT SOU %35 e £ MDA TT I 5 GO E A 7 R 0 6 BT R, M
RATE) A 1 e s L BB 650 ke, 1 7 At G K3 % 0 Ay
520 ke 8 Bk 51 4 0 - 7 T I P AR 4 A% T e 5 BT TR
THE A TG e 1] L e s L 51 4 49T 8 .

CLSR G 87 % 09 F 34 8.

€20 B BRI AELIT TR TH TR 2 5 45 4 B) A T S K [ 7

CANEWSY 10 53

TEHIE ABCD 1, 4 E R0t MR BD L — &L 4 F.G 76 H2R BC I,
H BE=EG..AEF= /BEG.

COME 1, RAE  AABERAFGE.

(@)W 2,2 L ABC=120"8f R iE . AB=BE+BF.

(UM 3,3 LABC=90°, i F #£4 B BC LA .4k Bt AB.BE,BF )

ORI 7 PO R A B 3D
4

4 »
4 o
:7::
ié{ N
s 6 ¢ Fb cc B
= w2

(3% 21 1)

Fooc o6
3




[image: image6.png]22. CA/NEENESY 10 55>
P WP Y=~z tbrtc WSS = BT AC—5,05,B(1,0)
PRy ST C L SR X B S > MR T D
LSR8 19 BROREE A
OB 1,8 ECe ) MBI L — L B —5<z<—2.32 8 E
EF /i E R R 09X BRM T 8 FAE EH | x i1 F 2 H 18 51 5695
EHDF R EHDF Ji 1 9 & it
(3 UNEE 2. 0 P KRB RIS L — SR AT A PSR PLA,
C Rt = MIEIE (L = I TE? A4 4E N ELHE S 8 P 69y
AAEAE WL

(22 )




